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1. Consider the following statements:

Trees at trophic level 1 as primary producers.1.
Parasites at trophic level 2 as primary consumers.2.
Hyperparasites at trophic level 3 as secondary consumers.3.

The resultant pyramid of numbers would be:

 Erect
 Inverted
 Neither erect nor inverted
 Can be erect or inverted depending on other factors.

2. Which of the following is/are in-situ methods of conservation?

Biosphere Reserve1.
Botanical Garden2.
Zoological Park3.

Select the correct answer using the codes given below.
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 1 only
 1 and 2 only
 1 and 3 only
 None

3. With reference to eutrophication, consider the following statements:

Primary productivity becomes low.1.
Oxygen availability decreases.2.

Which of the statements given above is/are correct?

 1 only
 2 only
 Both 1 and 2
 Neither 1 nor 2

4. Pollutants can be classified as primary and secondary. Which of these is/are
primary pollutant?

Volatile Organic Compounds1.
Ground Level Ozone2.
Acid Rain3.

Select the correct answer using the codes given below.

 1 only
 1 and 2 only
 1 and 3 only
 1, 2 and 3

5. Which of the following Tiger reserves is/are also a National Park?

Manas1.
Indravati2.
Namdapha3.
Sariska4.

Select the correct answer using the codes given below.

 1, 2 and 3 only
 1, 3 and 4 only
 2, 3 and 4 only



 1, 2, 3 and 4
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